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HETITRET 145911 %1 aga FIae1 & Tigq 31K 37T & & 91T By :

(i) 39 97-97 4 30 I97 & | @t 3o SfAard & |

(ii)  ¥8 F¥7-U7 giel @US] 4 [QYifod 8- WU &, &, T, 09 & |

(iii) WUZ & H F97 &I 1 T 12 7% Tglascdid (MCQ) FHR & Th-Uh 3% & o7 & |

(iv) WUE W H ¥o7 G&7 13 T 18 % &Tg-3I709 (SA) IHR & F1-g1 37H & J97 8 |
J9F Y97 HT I 50 Jed] @ 37ferk 787 5147 =130 |

(v) @UE T H I3 G&I7 19 T 23 TF F4-370T (LA) IR & TR-TAR 3761 & J97 & |
JIF J97 HT I 100 55! & 37fees 787 5147 =130 |

(vi) @IS T H T97 GEIT 24 G 26 T TR, Higd T HHITT-STIIRT T97 & |

(vii) @WUE & F J97 &7 27 G 30 % FH-3709 (LA) YR & Bg-BF HH & J97 8 /
Y Y97 &7 I 170 5] @ 37ferh 787 5147 =50 |

(viii) FP7-U7 4 P13 TGT fdbcT 767 8 | TG F& T T ake [dHcq BT Fae 727
T E | 37 I 4 & FaT Uk &1 JIT HT I [o7ET W |

(ix)  3G% 3ARE, JA4% GV U J94] & @19, Tal Ha9qe &, 1459 13 T & |
«usg

o7 &7 1 & 12 T Tglasedid (MCQ) J#R & Uah-Uah 3% & 97 3 | 12x1=12
1. HH-9 3 TSI § HEE qET AR oh o916 1977 T W IAE ST H T
T ?
(a) 3T QW IR TH] HIHR
(b) TG 3R HHleh
(c) 3T R &y
(d) HAEH AR TS
2. Tmafafga & @ a1 & Fua fooa +1 3w 787 3 2
(a) U4 TEE TSI o ote gue A1ides o foafia e
(b)  TCE TSl hl ATaies M= o gEa&q T e
(c) T 3ifereh =rEma iR fsqer fava i TmoHT e
(d) wfd 9 GLE ! q@rar ¢
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 30 questions. All questions are compulsory.

(it)  This question paper is divided into five sections — Section A, B, C, D and E.

(iti) In Section A - Questions no. 1 to 12 are Multiple Choice (MCQ) type
questions, carrying 1 mark each.

(iv) In Section B - Questions no. 13 to 18 are Short Answer (SA) type questions,
carrying 2 marks each. Answers to these questions should not exceed 50 words
each.

(v)  In Section C — Questions no. 19 to 23 are Long Answer (LA) type questions,
carrying 4 marks each. Answers to these questions should not exceed 100 words
each.

(vi) In Section D — Questions no. 24 to 26 are Passage, Cartoon and Map-based
questions.

(vii) In Section E — Questions no. 27 to 30 are Long Answer (LA) type questions,
carrying 6 marks each. Answers to these questions should not exceed 170 words
each.

(viit) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A

Questions no. 1 to 12 are Multiple Choice (MCQ) type questions, carrying

1 mark each. 12x1=12

1. In which pair of states did the Congress Party manage to win the General

59/3/1

Election of 1977 after Emergency ?

(a)  Uttar Pradesh and Jammu and Kashmir
(b)  Gujarat and Karnataka

(c) Orissa and Assam

(d) Karnataka and Tamil Nadu

Which one of the following statements is not an objective of BRICS ?
(a)  To distribute equal economic benefits among its member-states
(b)  Non-interference in the internal policies of member-states

(c) To establish a more equitable and fair world

(d) To promote peace and security
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A T U 3T G ! fohd To™ Wil o hRiehial § TREY foharm T o 2

(a) Tl Tieh (b) HHE fig
) i fom d I T
AfaIRad o1 HITTHATIAR SGTEd HifTT

(i)  ®Teh <hl TATYET

(i) U "= i T

(iii) AT T T

(iv) = ¥ $ 1 e

gt foehea ﬂﬁE :

(a) (1), (1), (iv), (iil)

(b) (i), (iv), (1), (i1)

(c) (i1), (iv), (1), (ii1)

(d) @), Gv), (iii), (1)

= a %%%QTFQ% 54w ol SAfReE (A) 991 A S RO (R) g

JAferd form TR B | ¥ HYHl I S99 ¥ Ufgr IR = feu mu foemrew
(a), (b), (c) 3 () ¥ & I & &4 T Tl fashed FHT |

S7HYT (A) :  <feqor uisrn & 31 o fafawdar o1 udies g, T oft efeqor wfsen

o fafie et # weh SE Ueifaes Jurmedt B |

HRI (R) : %3 qHETAT TR 1Al < Sra[g, I gleqor TRrms gun 6

(a)

(b)

(c)
(d)

ST TATehd s <hl STTRTETIAT | Tg9T & |

AR (A) 3 HIOT (R) HI T&1 2 3 kR0 (R), AYHIA (A) i
gl SIS hdl 2 |

MR (A) IR SR (R) THI T 7, Tg RO (R), AR (A) i
&l SR gt il g |

R (A) T& B, Teg SROT (R) TeAd 2 |
HAT (A) TeAd ], Tg HROT (R) T&l 7 |
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=
3. Which Prime Minister initiated new economic reforms in India ?
(a) Rajeev Gandhi (b) Manmohan Singh
(c) V.P. Singh (d) H.D. Deve Gowda
4, Arrange the following in chronological order :
(1) Establishment of SAARC
(ii)  Establishment of European Union
(iii) Establishment of ASEAN
(iv)  Privatisation of agriculture in China
Choose the correct option :
(a) (b)), (1), (v), (i)
(b)  (i1), Gv), (1), (i1)
(c) (i1), (iv), (1), (iii)
(d) 1), (v), (iid), (1)
5. Two statements are given below — one labelled as Assertion (A) and the other

labelled as Reason (R). Read these statements carefully and choose the correct
option as the answer from the options (a), (b), (c) and (d) given below.

Assertion (A) : South Asia stands for diversity in every sense, even then
the various countries in South Asia have the same kind of

political system.

Reason (R): Despite many problems and limitations, all South Asian

countries share the aspiration for democracy.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.
59/3/1 Page 5 of 23 P.T.O.
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ﬁ%ﬁ%%%qm% 54w ol SAfReE (A) 991 A S RO (R) g
JAfra foram T B |E$@aﬁwﬂﬁﬁqaﬁt:ﬂ%ﬁqu
(a), (b), (c) 3 () ¥ & I & &4 T Tl fashed FHT |
37T (A) :  WNA J TR W a9 qeAy] et o faw s faa,
At T off g 3 WA, & Affraaecie foar =
fomre feram ot ... W =aer =1 @ s R faan |
PRO(R): 3 il foow &9 @ oy wiwdt woawp g off ik
THTY] ITTh-HUH qE JRRAT b ThIYhR i oG ST off |
(a) 3R (A) 3R HRU (R) ST T & 3 HROT (R), 31¥heH (A) i
& SIS AT B |
(b)  SAHHAA (A) 3R HRT (R) THI F&I 7, T HR (R), 3R (A) I
T AT TgT HaT 2 |
(c)  AMPYT (A) Wl 8, g BN (R) T & |
(d) AR (A) TAd 7, T RV (R) HaEl 3 |

39 2 I ggEH e e e i e iinmg 3 % @y e
g |

(a)  ABMEH
(b) WA

(c) STFAR™

d) U

fafafed @ 9 w9 goifaes 9l S9ar & ‘gue A o fgeEn 9@ eft,
fTEehT e TSR TR0 5 1975 | foha ot ?

(a) U SHE9

(b)  WRA™ HEIE 9 (M)

(c) WA Wreh g

(d)  wHTSET T

S[TE 1985 T, Uae H I T1fud s % fote fopes afte ‘oot wmeid’’ W
gEarer fopu MU o 2

(a) TfE TR SR gistia &g imara

(b) TS TiEft 3 wa fog e

(¢)  Tha meft 3 ary fag e

@)  Teha et 3R gtee g Amere
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Two statements are given below — one labelled as Assertion (A) and the other
labelled as Reason (R). Read these statements carefully and choose the correct
option as the answer from the options (a), (b), (c) and (d) given below.

Assertion (A) : India pleaded with the superpowers for comprehensive
nuclear disarmament, yet India opposed the indefinite
extension of the NPT and also refused to sign the CTBT.

Reason (R): These treaties were selectively applicable to the
non-nuclear powers and legitimised the monopoly of the
five nuclear weapon powers.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.

Identify the country which shares its borders with most of the South
Asian countries.

(a)  Afghanistan

(b)  India
(c) Bangladesh
(d) Nepal

Which among the following political parties was not a part of the
Jayaprakash Narayan (JP) led peoples’ march to Parliament in 1975 ?

(a)  Bharatiya Jana Sangh

(b) Communist Party of India (IM)
(c) Bharatiya Lok Dal

(d)  Socialist Party

In July 1985, “Punjab Accord” was signed between to bring
normalcy in Punjab.

(a)  Rajiv Gandhi and Surjit Singh Longowal

(b)  Rajiv Gandhi and Sant Singh Longowal

(c) Rajiv Gandhi and Tara Singh Longowal

(d)  Rajiv Gandhi and Harchand Singh Longowal
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10.

11.

12.
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=9 & FIY YA & 99l o IR H TAd hAT T =T hIT |

(1) VR 3R = AT A Th-gE % Rl 1 SN foRan SR Sl sl Sl
 Bfqul aleh @ 3R T TR |

(i) 1949 H 9Rd 9 9 & o= @91 fGere I 8 = o7 |
(iii) =1 T 9YRd & T I W < w3 |

(iv) =Y Adel o &9 gU d" TEER SR G- o 916, §9 HAWal ohl
o foran 7= |

Tl Torehed AT -

(a)  Had (i) 3R (iv)

(b) I (iii) HR (iv)

(¢ had (1) 3R (ii)

(d) had () 3 (iii)

frafetfga @ @ wH-Ht faeaard e emem o Hifa smm & u St 8 2
() e I e E |

(i)  qF H TSN T fHeRT 37EE 2 |

(i) gFT O 31egey Jum WA R |

(iv) <l =l &9 3TEfdd o i Wk 7 |

& foeheq g :
(a) hdd (ii) 3 (iv) (b)  had (i) 3 (iii)
(¢)  had (i) 3 (iv) (d) whad (i) 3 (iid)

faafafgs & 9@ - e fEmea 3 IRy 9 YRdE 99§ sfia g9 s foy
fopam o 2

(a) el (b)  BEUETE
c) ®F¢ (d) TETferr
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10. Choose the incorrect statements about India’s relationship with China.

(1) Indian and Chinese leaders visited each other’s countries and
were greeted by large and friendly crowds.

(ii1) A boundary dispute had surfaced between India and China in
1949.

(iii) China claimed two areas within the Indian territory.

(iv) After a very long correspondence and discussion among top
leaders, these differences were resolved.

Select the correct option :
(a)  (ii) and (iv) only
(b)  (iii) and (iv) only
(c) (1) and (ii) only

(d) (1) and (iii) only

11. Which of the following are the common features for both, the Planning
Commission and NITI Aayog ?
(1) Both are non-constitutional bodies.
(ii)  Both have significant roles of states.
(iii) Both have the Prime Minister as chairperson.
(iv)  Both have the power to allocate funds.
Choose the correct options :
(a)  (ii) and (iv) only (b) (i) and (iii) only
(c) (i) and (iv) only (d) () and (iii) only

12. Which one of the following Princely States initially opposed joining the

Indian Union ?

(a) Baroda (b) Hyderabad
(c) Mysore (d)  Gwalior

59/3/1 Page 9 of 23 P.T.O.
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14.
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16.

17.

18.

19.

20.

21.
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23.
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Qs @

MY TR fohT JhR 3Tk TAlehdiEieh aldl & ? 3TTeheld ShifoY | 2

YT o YW TR GO&I0 o HHY $Eehl TR USHIT H ohicd T8I &1 o ?
g HIfT | 2

Hifa s & 58l 3 g ®™t *1 3g@ HINT | 2x1=2

1975 o STITAehIA o 3TME-UH hl 7Y bl YTk Gohe hl T o &I |

AT STHT ST 8 2 his Teh U ISR HIFT | 2
aqd Hifed 99 o fohral 9 TORTSAT o AW ffaU | 4><é=2
dHCITA I ¢ TfdqIed UehlcH HMIdE o foheal @l forg=di &l IR

T | 2x1=2

w|uUE T

FRETT <l qRUNER 3T AR G o i 3R T HIfT | 2x2=4
s # S7aTeaaTdl 3T o fohegl €1 RN ohl ISR <hIfST | 2x2=4
Tferor TR < B <o 3R 9Rd o IR Tra-ei o foaweryor Shifu | 4

2014 % FAEI o ¢ YA TeHId § AW fhdl IR sSgamEl 1 auiE
HINT | 4dx1=4

YT oh! FEhId T ATHIRIT o fohrg] IR THTET 3l IR FHIFT | 4x1=4
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SECTION B
In what way are the coalition governments more democratic ? Assess. 2

Why was the period of India’s first nuclear test a difficult period in its

domestic politics ? Explain. 2
State any two main functions of the NITI Aayog. 2x1=2

Why is the period around Emergency of 1975 known as the period of

constitutional crisis ? Highlight any one reason. 2

Name any four Republics of erstwhile USSR. 4x é =2

Highlight any two principles of Integral Humanism advocated by Deen
Dayal Upadhyaya. 2x1=2

SECTION C

Differentiate between the traditional and non-traditional notions of

security. 2x2=4
Highlight any two reasons of the separatist movement in Mizoram. 2x2=4

Analyse the mutual relations between the smaller countries of South

Asia and India. 4
Describe any four changes in Indian politics after the 2014 elections. 4x1=4
Highlight any four effects of globalization on the culture of India. 4x1=4
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o

Qs ¥

(&1

fofem

Rgd ST 1 AHYEH JA=EH HIC IR fou MU g+ % IW

4x1=4

YA < Yo J9 W 5 TS Toiel a3 i | Heeaqul Hehl [HuTs | 98 T
= oft 9 3R 38 vra i faew fifa f = R fharaea w R yve

STl | eht faew fifd & 7 92 3v99 9 — wfeT wud @ ww gwyar = 9=
T, T 3rgusdl sl S41U WEHT, 3R a9 TR & 3nfdie foaem & | a8
T 3evdl ! Te-Fruerar r ifa st o wifee S e 9 | 39 fi gw A

$S TsHITdeh & R g T Wl o [eh1 A1 o foh WRA 1 wdiehl ©H
1Y SAQT TSGeh! SHI =I3T Fifh 30 WH i Jldsal Ahdd & TGAR o
w9 H off |

1)

(i1)

(iii)

(iv)

et fager Hifa w1 qea fmfar ffaRea 5 9 &9 o 2
(a) .37, TSR (b)  TETcHT TIIeft
(¢c) SIOEAA 488 (d) HER 9

frafafea o @ wH-ar yra i foew ifa @1 389 2 2
(a) 319 f&al <l T&m e

(b)  ATehdA <1 T

(c) A HIRH EATSAT I A LAl

(d)  HETRIRE S9-T

TTe-fAuerar 1 e 7 |
(a)  dEIdl (b)  ITEEaEd
(c)  YUedraTg (d) el oIk e @ & S

foheh AT o foh WRA ohl TR o Aqgcd dTcl @H % |1 3T
fisraq g1 =nige 2

(a) WA e (b)  T&GA UTEl
(¢ .3, ITEEH d) 3w ad
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SECTION D

Read the following passage carefully and answer the questions that
follow : 4x1=4

The first Prime Minister of India played a crucial role in setting the

national agenda. He was foreign minister also and exercised profound

influence in the formulation and implementation of India’s foreign

policy. The three major objectives of his foreign policy were to preserve

the hard-earned sovereignty, protect territorial integrity and promote

rapid economic development. He wished to achieve these objectives

through the strategy of non-alignment. There were parties and groups in
the country that believed that India should be more friendly with the bloc
led by the US because that bloc claimed to be pro-democracy.

(1)

(i1)

(iii)

(iv)

Who was the main architect of India’s foreign policy ?
(a) B.R. Ambedkar (b) Mahatma Gandhi

(¢) Jawaharlal Nehru (d) Sardar Patel

Which one of the following is an objective of India’s foreign
policy ?

(a) To pursue its national interest

(b) To preserve democracy

(c) To strengthen its Armed forces

(d) To become a superpower

Non-alignment means
(a) toremain neutral (b) non-interference

(¢) toremain isolated (d) not joining any power bloc

Who believed that India should be more friendly with the bloc led
by the US ?

(a) Bharatiya Jana Sangh (b) Swatantra Party

(c) B.R. Ambedkar (d) All of the above
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25. WA % U T TSHITTh W@I-AHRT (58 15 W) § IR T D1 @), B), ©
aAqT (D) o g IAfhd fohal T & | = € T8 SR o STUR T $4 TSAT
UgIM HINT 3R 0 IT-GEdept B geh T& 19, TAN I TS AR i
HU-TEA 9T gHfa | foar wn gefaq ser, i & 8 diferet % w9 W

fafen - dx1=4

TN hl T8 THEGRI | T |

. . TS 1 919
I HH-gE G 38R

(1)

(i1)

(iii)

(iv)

() 98 TS TS99 w9dadr o 999 9@’ el ST o |

(i)  rEqfaa T @ maR W ffda T |

(i) 98 TS f&ent 1947 1 fawrfoa feram mam o |

(iv) 1952 H Tfdd 98l TS |
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In the given political outline map of India (on page 17), four States have
been marked as @, , © and @ Identify these States on the basis of
the information given below and write their correct names in your
answer-book along with the respective serial number of the information
used and the concerned alphabets given in the map as per the following

format : 4x1=4

Serial number of the | Concerned alphabet Name of the
information used in the map State

@)

(i1)

(iii)

(iv)

(1) The State which was called ‘Madras’ at the time of Independence.

(ii)  The State formed on the basis of imbalanced development.

(iii) The State which was partitioned in 1947.

(iv)  The first State created in 1952.
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For question no. 25

km Scale 1:15000,000 km
100500 100 200 300 400 500
[ — " —
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26.
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(1)

(ii)
(iii)

(iv)

g

E%%

O]

&I 25 & T W
4x1=4

‘Tird’ TS T fIWTSH Tieh HIA- & TF s91¢ T4 o ?
9d U HgE AT T Tt TS Sl Ja0H 9 F1 8§ 2

IAUEUE e TSI 8 e T S =T =T 2 2

3G TS 1 W faiau S8 759 923 & e o s=3 T 3§ |

= feu T SEd T SAYEH T HIfT 3R U T Tl o I N | 4x1=4

(1)

(i1)

SR Teu T H1¢A 1 T9Y ThE WA H 7 ?
(a) AR (b) IJOdE T=
(c) @ (d) fsrer

fean man shrga fefaRea o 4§ forech A 8 2
(a) TS ATTHT
(b) AR THSAT i T T
(¢) Tl % foIT T Afge™ a1 H %]
(d) TR T § T
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Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 25 : 4x1=4

(1) Which two States were created by dividing ‘Bombay’ State ?
(i1)  What is the present name of former ‘Madras’ State ?

(iii) Uttarakhand was carved out of which State ?

(iv) Name the State which was carved out of Madhya Pradesh.

26. Study the cartoon given below carefully and answer the questions that
follow. 4x1=4

(1) The above cartoon is related to which organistation ?
(a) ASEAN (b)  European Union
(c) SAARC (d)  BRICS

(i1))  The above cartoon is about which one of the following ?
(a) Global warming
(b) Failure to make a trade agreement
(¢) Failure to draft a common constitution

(d) Failure to protect the environment

59/3/1 Page 19 of 23 P.T.O.



(iii)

(iv)

e ¥ fe@mn mn fHari 1 99 91 g 8 ?
(a) TS % e o

(b) TS I Tehd

(¢) TS hl ThaIdl

(@ TS hl BT

Higd § HeUd TS ! €A1 fope a g3 off 2
(a) 1967 (b) 1985
(c) 1992 (d) 2006

Fig: AT 397 FIT FIRETET GRTiaal & 7Y ¥ ET 26 F T RN

59/3/1

@

(i1)

(iii)

(iv)

AT JISHT o dgd fohd TS <hl TATYAT <hl 175 oft 2

(a) U qiwg
(b) IR e wgamT e
(c) {aﬁa LSRR

d I e agem
ATfete GiY ht 39 1 foha &1 <unt A Ty femam o 2

(a) ST, AT (b) fsiea, g

(¢c) 4T, e d) s, s

4x1=4

I AT refearen ® gUR & o fore forg oW ¥ ‘gor g’ 1 Aifa

JAUATE ?
(a) 1975 (b) 1977
(¢) 1978 (@ 1979

HIF-H dIF AT T TG SATIH o FEATTH G o ?
(a)  SeMf3mEn, gofymn, fefodia, fmg st gk
(b)  SeMf3mEn, gofyrn, fefedta, erdds it 578
(c) gsMfsmn, fefordi, fmp, s ofit 373
() senfymEn, mafirn, fefadia, fauam it asee
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(iii)) What does the circle of stars shown in the cartoon represent ?
(a) Member-states of the organisation
(b)  Unity of the organisation
(¢)  Success of the organisation

(d) Composition of the organisation

(iv) In which year was the organisation related to the cartoon

established ?
(a) 1967 (b) 1985
(c) 1992 (d) 2006

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26 : 4x1=4

(1) Which organisation was established under the Marshall Plan ?
(a) Council of Europe
(b) Organisation for European Economic Cooperation
(c) European Community

(d) European Economic Community

(ii)  Which two countries have resisted to adopt Maastricht Treaty ?
(a) Bulgaria, Romania (b) Britain, France
(c) Denmark, Sweden (d) Poland, Finland
(iii) China adopted the ‘open door’ policy to improve its economy in
which year ?
(a) 1975 (b) 1977
(¢c) 1978 (d 1979

(iv)  Which set of five countries were the founders of ASEAN ?
(a) Indonesia, Malaysia, Philippines, Singapore and Thailand
(b) Indonesia, Malaysia, Philippines, Thailand and Brunei
(¢) Indonesia, Philippines, Singapore, Thailand and Brunei
(d) Indonesia, Malaysia, Philippines, Vietnam and Thailand
59/3/1 Page 21 of 23 P.T.O.



s &
27. (%) ARSI qd HfGFd TIRSAT hl ToE 3N Gall Sl 3T 7@ A I
fohgl < ShTTehl A1 GUM HITTT | 3x2=6
rera
(@) frema e ® Qifldad 99 § g9R dH o T ASe i a1e $is
9 RUT TS hify | 3x2=6
28. (%) dfvgs THifd 1 fordl IR Aol FEEWE fo=arsti Hl AR
Hif | 4xzé:6
HAAT
(@) Sl o foregl am emfees aftomt =61 IR il | 4><1§:6
29. (%) YA U TH A &I Y@ T ¥ ol Th i@ TYcd yorert | fopg
YR e 8 2 3gTeen Sl gErar 9 favem hifvu | 3+3=6
HAAAT
(@) 1969 % TsgUd AT o fafia qgqati i favaivor hifse, S wEE 9t
H 3ftu=Ties fauTeE 1 SR 54 | 6
30. (%) UIH UegHd LT INug & U el < oI J&aread fohegi =R ATIeuei
1 g{&u HIfT | 4x1 é =6
rera

(@) wead g¢ oW H Y UsgHd ol Tk YTER - o g 2005 F
e OO % Uyg@l gl gEe MU fRdl 9R hedi 1 faveiwor
HIT | 4x1%=6’

59/3/1 Page 22 of 23



27.

28.

29.

30.

59/3/1

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

SECTION E

Describe any three factors that make most of the former Soviet

Republics prone to conflicts and threats. 3x2=6
OR
Explain any three reasons that forced Mikhail Gorbachev to

initiate reforms in the Soviet Union. 3Ix2=6

Highlight any four environmental concerns that have become

important in global politics. 4x1 é =6
OR
Highlight any four economic consequences of globalisation. 4x1 é =6

How is ‘one party dominance’ in India different from the ‘one party
dominance system’ of other countries ? Analyse with the help of

examples. 3+3=6
OR

Analyse the various aspects of the Presidential election of 1969,

which led to the formal split in the Congress Party. 6

Examine any four criteria proposed for new members of the

UN Security Council. 4x1 é =6

OR
Analyse any four steps suggested by the heads of the member

states in 2005 to make the United Nations more relevant in the

changing context. 4x1 é =6
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